Road Transport Department of Malaysia (JPJ)
Automotive Engineering Division,

Level 4, No.26,

Tun Hussein Road, Precinct 4,

Federal Government Administrative Office,
62100 Putrajaya, Malaysia.

Office : +603 - 8892 8107

Fax :+603-8881 1085

Email : ka.hqg@)jpj.gov.my

Web : www.jpj.gov.my

THE MALAYSIAN TYPE APPROVAL AUTHORITY

COMMUNICATION CONCERNING

- APPROVAL GRANTED

OF A SEAT TYPE OR TYPES WITH REGARD TO ITS (THEIR)
STRENGTH PURSUANT TO REGULATION NUMBER 80

Approval number: E52*80R03/03*0017*00

1. Trade name or mark of the seat : DAMRONGSILP
2. Seattype . SMART400 2PT
3. Manufacturer's name and : Damrongsilp Supplies Co., Ltd.
address 95 Moo.1 Malaiman Road, T.Thungcok,
A.Songpheenong Suphanburi 72110,
Thailand
4. If applicable, name and address : Not applicable
of the manufacturer’s
representative
5. Additional information
5.1. Brief description of the seat : Drawing 1

type, its attachment fittings and
its adjustment, displacement
and locking systems including
the minimum distance between
fitting points

Road Transport Department of Malaysia our ref : JPJ.BKA)
Page 1 of 3



Approval number: E52*80R03/03*0017*00

5.2.

5.3.

5.4.

5.5.

5.6.

5.6.1.

5.6.2.

5.6.3.

5.6.4.

S.7.

5.8.

5.9.

Position and arrangement of
seats

Seats, if any, which incorporate
a safety belt anchorage

Energy absorption test of the
rear part of the seat-back

Drawings showing the area of
the rear part of the seat-back
verified for energy dissipation
Seat approved in accordance
with paragraph 5.1. of this
Regulation (dynamic test)

Test 1 according to Appendix 1
Test 2 according to Appendix 1
Description of the safety-belts
and anchorages used for the
purpose of Test 2

Type of auxiliary seat used for
test 2 (if different from the type
of seat approved)

Seat approved in accordance
with paragraph 5.1. of this
Regulation (static test)

Test according to Appendix 5
Test according to Appendix 6
Seat submitted for approval on

Type of device

Technical Service, responsible
for the approval test

Road Transport Department of Malaysia

Page 2 of 3

. Double Seat facing forward

: Double Seat

: Yes /Ne

. Drawing 1d

- ¥es / No

. ¥es / No
: ¥es / No

. Not applicable

. Not applicable

: Yes /Ne

" Yes/Ne

- ¥es/ No

- 23" November 2019
: Not applicable

: TUV Rheinland Malaysia Sdn. Bhd.
No. 27, Jalan Para U8/103,
Metropolitan Business Park,
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor,
Malaysia.




Approval number: E52*80R03/03*0017*00

10.

11.

12.

13.

14.

15.

16.

Road Transport Department of Malaysia

Date of report issued by that : 14" June 2020
Service

Number of report issued by that : 93-R80-01915-SMART400-2PT/20
Service

Approval . granted/extendedfrefused/withdrawn
Position of approval mark on : On the seat fabric, beside the head rest
seat area

Place . Putrajaya, Malaysia.

Date - 17" July 2020

Signature

n Mohamad

Automotive Engineering Division

The following cum'ents, - Not applicable
bearing the approval number

shown above, are available on
request

Page 3 of 3




TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-SMART400-2PT/20 2
TUVRheinland

Type : SMART400 2PT
Manufacturer : Damrongsilp Supplies Co.,Ltd.

TEST REPORT
according to UNECE-Regulation
Uniform provisions concerning the approval of seats
of large passenger vehicles and of these vehicles

with regard to the strength of the seats
and their anchorages

UNECE R80

including all amendments until

series of amendments: 03
Supplement 03

Previously granted

UNECE - certificate . =

General information

Tested vehicle(s) / object(s)
Test record

List of Appendices
Statement of conformity

Structure of report

pOObd=2O

partially with the written permission of the Technical Service only.

TUV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 1
Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TUV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Type

Manufacturer

Test Report No.: 93-R80-01915-SMART400-2PT/20

SMART400 2PT
Damrongsilp Supplies Co.,Ltd.

. ®
TUVRheinland

0. General information

0.1.

0.2.

0.3.

0.4.

0.5.

Make (trade name of the manufacturer)
Seat Type (Variant)
Seat for vehicle category

Name and address of the manufacturer

No. of the information folder
date of issue
date of last amendment

1. Tested vehicle(s) / object(s)

1.1

1.2

1.3.

Description

Vehiele / object

Commercial description

Type(s) / variant(s) / version{s)
Identification number

Condition of vehicle(s} / Object(s)

Worst case

Remarks

DAMRONGSILP
SMART400 2PT (RH, LH)
M3

Damrongsilp Supplies Co., Ltd.

. 95 Moo.1 Malaiman Road, T.Thungcok,

A.Songpheenong Suphanburi 72110, Thailand

UNECE R80-SMART400 2PT
October 23, 2019

Large Passenger Seat
DAMRONGSILP
SMART400 2PT (RH)

PA10642

new, used;-pretested

The determination of worst case scenario was done

according to QMA 1.301.005, section 6.2.2.2.

. Variant RH is symmetrical with LH

Test for variant RH covers for LH

TUV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103, Tel:
Metropolitan Business Park, Fax:

+60 3 7455 3000
+60 3 7859 8020

Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TUV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Type

Manufacturer

Test Report No.: 93-R80-01915-SMART400-2PT/20

SMART400 2PT
Damrongsilp Supplies Co.,Ltd.

. ®
TUVRheinland

2. Test record

2.1.

2141.

21.2

2.2.

2.21

222

223

224,

2.2.5.

2.2.6.

2.2.7.

2.2.8.

2.2.9.

Equipment for measuring and
testing

Specifications for the test site
Subcontracting

Test results

Test results refering to measurements

Attributive tests

Alternative test provisions
Remarks concerning extension

General requirements for all seats

Adjustment and displacement devices

Retention of the user by the seat in front

Risk of injury

Resistance of the seat and the seat
fixations

Constitution of the backrest and the
accessories

The test facilities / measurement equipment used
were in compliance with the test requirements

Damrongsilp Supplies Co. Ltd Laboratory

Not applicable

See Appendix 1

Test was done according to UN ECE Regulation
No. 80.03, Clause 5.1 Appendix 5 and 6 (static
test).

The strength tests were only performed for vehicle
category M3.

Not applicable
Not applicable

The seat type is in compliance with the
requirements of the regulation.

The seat type is in compliance with the
requirements of the regulation.

Not applicable

The seat type is in compliance with the
requirements of the regulation.
See Appendix 1.

The seat type is in compliance with the
requirements of the regulation.

No parts of seat, seat fixation or, accessories

a) dissolved completely

b) formed sharp edges or fractures, which can
cause personal injury

c) abandon their locked position.

The seat type meets the requirem
the prevention of injury.

TOV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103, Tel:
Metropolitan Business Park, Fax:

+60 3 7455 3000
+60 3 7859 8020

Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TUV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-SMART400-2PT/20

.. ®
TUVRheinland
Type : SMART400 2PT
Manufacturer : Damrongsilp Supplies Co.,Ltd.
2.3. Additional information : The results of the test refer exclusively to the
object(s) mentioned under point 1. of this report.
Test site : Damrongsilp Supplies Co. Ltd Laboratory
Test date . November 23, 2019
24, Remarks . Not applicable

3. List of Appendices

Appendix 0 : List of modifications

Appendix 1 : Test record static testing

4. Statement of conformity

The information folder mentioned under point 0.5 and the type described therein complies with the
requirements in the above-mentioned on page 1.

With regard to the required level of performance to be achieved, the tested samples were
representative for the type to be approved.

The tests were carried out in accordance with the relevant requirements of EN ISO/IEC 17025:2005
or EN ISO/IEC 17020:2012.

Shah Alam, June 14, 2020
ML

. b

Manfred Lottig

TUV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 4

Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-SMART400-2PT/20

. ®
TUVRheinland
Type : SMART400 2PT
Manufacturer : Damrongsilp Supplies Co.,Ltd.
List of modifications Appendix 0

Correction of s e

Modification of C e e

Addition of R

Deletion of t e e

TOV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 5
Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TUV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-SMART400-2PT/20 .
TUVRheinland

Type : SMART400 2PT
Manufacturer : Damrongsilp Supplies Co.,Ltd.
Test record static seat tests Appendix 1
Seat type series
) Height of test rig [mm] Forward movement [mm]
Test no Testobject / CR CL Remarks
’ Seat type H1 H2
s1 s2 s1 s2
1 SMART400 750 500 215 114 - - OK
2PT 750 500 - - 210 112 OK

Remark: CR = corridorside right
CL = corridorside left

Displacement requirements:

Location Min (mm) Max (mm)
s1 100 400
s2 50 -
TUV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 6
Metropolitan Business Park, Fax: +60 3 7859 8020

Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



UNECE R80-SMART400 2PT

APPLICATION FOR APPROVAL

TYPE: SMART400 2PT

SEATS (LARGE PASSENGER VEHICLE)

APPLICABLE REGULATION: UNECE R80.03

APPLICATION HISTORY

Document Ref. No Issue Date Explanation Approval No. Approval Date
of update
UNECE R80- 23/10/2019 Original

SMART400 2PT




GENERAL

1.0 Trade name or mark of the seat

2.0 Seat Type

21 Seat Variant

2.2 Loaction of Seat marking

4.0 Manufacturer’s name and address

5.0 If applicable, name and address of the
manufacturer’s representative

6.0 Additional Information

6.1 Brief description of the seat type, its
attachment fittings and its adjustment,
displacement and locking systems including
the minimum distance between fitting points

6.2 Position and arrangement of seats

6.3 Seats, if any, which incorporate a safety belt
anchorage

6.4 Energy absorption test of the rear part of
the seat-back

6.5 Drawing showing the area of the rear part of
the seat-back verified for energy dissipation

6.6 Seat approved in accordance with paragraph
5.1. of this Regulation (dynamic test)

6.6.1  Test 1 according to Appendix 1

6.6.2  Test 2 according to Appendix 1

6.6.3  Description of the safety-belts and achorages
used for the purpose of test 2

6.6.4  Type of auxiliary seat used for test 2 (if
different from the type of seat approved)

6.7 Seat approved in accordance with
paragraph 5.1. of this Regulation
(static test)

6.8 Test according to Appendix 5

6.9 Test according to Appendix 6

7.0 Seat submitted for approval on

8.0 Type of device

UNECE R80-SMART400 2PT

DAMRONGSILP
SMART400 2PT
Variant Model code
SMART400 2PT LH PA10682
SMART400 2PT RH PA10642
Drawing 2

Damrongsilp Supplies Co., Ltd.

95 Moo.1 Malaiman Road, T.Thungcok,
A.Songpheenong Suphanburi 72110, Thailand
Not applicable

Drawing 1

Double Seat facing forward

Double Seat

Yes

Drawing 1d

No

No
No

Not applicable

Not applicable

Yes

Yes

No

7

Static pulling device




UNECE R80-SMART400 2PT

Drawing 1 — Seat Drawing(s)

DATUM
; o BOLT M8X1.25X20

o , WASHER M8
...._. _\wuﬁ R { ’ |E . , -
| sipE MounTING .._.__, ..m”Wll  — I _. iy DT
\ _ . Y. @ Jil- @ h
— | | | 7.

/,.
. W , _ "o, SCMET.S db n -
' m;ﬁ - ] WASHER M10 L o '
! ," : — BOLT M10X1.5X35 .

NUT WASHER M8

H-POINT

(1104

NOTE
- H-POINT
- THE SEAT SHOW RH SIDE THE LH SIDE IS SYMETRICAL

210

—a—

) ASSEMBLY|  SWMRT4RECER
— = T patosdz
e PA10682
—EEF I T

o
b — —_—r

m — A
s - lew\w ra @ N

|

- s | e | e s | oo | o e [am =T
T

v:00L GROUPSMART o0 ECEL L T g T T 7 T Y 7 T
I KT8 TSI



UNECE R80-SMART400 2PT

DWG. 1a - Seat adjustment System (if applicable)

1 I A1 ] 1 3 1 3 1 } 1 — 1 1
NO | PART —_ MATERIAL

_ DIE PART RH SPHC

2 |RECUNER BASE PART RH| SPHC

RECLINER BASE PART LH| SPHC

RECLINER RH 3 DIE PART LH SPHC

£ LATHE PART OD25 SPHC

RECLINER ARMREST LH

ASSEMBLY| DRS48 ARMREST RH LH

= Ty =

=0 PA1-10089

= oo

w.w 7| | 2|
-THE RECLINER SITOW FOR RH SEAT AND LH SEAT IS SYMETRICAL ——
——— | wm | ena femone] swn | o | e o | WX A

3
T T g T i i U

FMODEL GROUPDRS 46DRS 46 ARMREST OrignalDRS 46 ARMREST LHIPA1-10554 DRS46 ARMREST LI

(690 . Bt e 130



UNECE R80-SMART400 2PT

DWG. 1b — Seat padding

B 386 4
L
t [ g — f
_\l
S8 A AN
|3 — f | »
{ J
I L
- D
— \J . .P /\ -
L™ e — ) b
SECTION A4 A& i
3
DENSITY 46 +3kg/m
3 ]
i s | ASSEMBLY| cussonswreo |
| | o [T =
e FO0494
B 5 T
& | + | _ | 21l .
/] |/ S Dt
, — == = | o ] e [ e [sam =50
T & T H 1 4 T 3 I 3 T

Y#ART dROUPPART mcﬁm‘gmﬂﬁg 400,

AR VR RTERNS



DWG. 1¢c - Seat frame

1
JPART MMBEﬂ DESCRIPTION

UNECE R80-SMART400 2PT

[TEM NG, OTY. | Mars | THICHNESS
1 PB0022 UATHE PART #13 2 | 55400 [ Y10
2 PBOBYA o Tuanie SPHC D6
3 Pi8213 LASER PART 13 SPHC 723
a PI8204__| SCUARE PIPG 30:3000 8 sS40 | Te18
5 8295 | SOUARE PIPE 30x30x1 § 86400 | T=19
6 PPOOTT #TS006 TS Electic 06 55400 T=5
405 4 7 FP300L LASER PARTT3RH | 1 | sPrc Ta3
" e FP3005 LASER PARTTILH | 2 | SPHC T=3
S PP3006 BENDING PARTTA | 2 | senc T
) PP3011 LASER PARTT3RH | 1 | sprc Ta3
3§ 30.a 1 PPI0I2 LASER PART T3 4| sPaC Ta3
=l “ 2 PPOTS BENDING PARTTZ | 1 | SPrC Te2
S 13 SWI0041 N M10X1.5 2 | SeMC | 777
Jq 9
oy
1 o 3] El
B
- 113
sama
o) a >
o
o
- @
A L oA
10} Py — 1
=
(20} || 2024
I Ia
— 3 al
- s
k N
C .
Ll S DETAL G SECTOREE o
= CMET Y 12 I
vusoE GRoUmSwARY adb et 7 T T L) T T
1 1 ] 1 A1 1 1 1 1 i 1
FTEMNO.| PART NUMBER ODESCRIPTION | OTY. | Matosal | THICK
1 PB0022 LATHE PART 813 2 | sse00 | 1=16
2 PBOS14 s luanit SPHC | B6
(O I Pi8213 __LASER PART T3 SPHC | Ta3
Piazod SQUARE PIPE 30036x1 % S560 | Te189
765 o PES SQUARE P 30301 § S0 | T=19
PROGT #7S008 7S Elocwic 65 58400 | Te5
405, 26341 158 2831 AD.S 1 P300S PART T3 R $PHC =3
] I [ 30 ws ) PPIBOS LASERPARTTSLH | 1 | semc =3
£ ] PP3008 BENDING PARTT4__| 2 | sprc =
K2 : 2 3 . L 10 PP3012 CASERPARTT | 4 | sewc | Ta
L= 190 190 4 z " PP3016 BENOWGPARTTZ | 1 | sbrc =
2l 68 L = E 12 P02 LASERPARTTSIH | 1 | senc >
1=~ - 3 13 SWO0041 Nt M10X1.8 2 | s [ Tery
- 5 I8 3 2
&l
0l
4 &
S 8 el V] " - c—
L | .| *
22 2024 MdSes . 14,5105

§

ok WY e
2.

{
—

M10X15

i o [
a a0 no o
S ry — I i = Y ol
L1 20..

333333333

v:mcotC GRouPsIART adb ECe ! T




UNECE R80-SMART400 2PT

1 1 1 3 1 1 3 1 Al i 1
ITEM NO. PART NUMBER DESCRIPTION Qry.
1 P13574 BENDING PART T4 1
P18210 Square Pipe 1
PB211 Square Pipe25X25X1.5 1
Pl18387 BENDING PART-L-T3 1
/ ’
L
13
s
ASSEMBLY ASHY LEG BEAT (M ECE.
L) s
- o] PA1-10686
1 :E:.?: E = o e S
1/ || | o
— o [ o [ [ e | o] oo e | XY ekl
Y ] T i
LTIV,
i 1 H 1 i 1 i 1 A 1 i A i 1 i
ITEMNO.| PART NUMBER DESCRIPTION QTY.| Material
1 PI3574 BENDING PART T4 1 SPHC T4 |
2 PI8210 Square Pipe 1 83400 T8
3 Pis211 Square Pipe25X25X1.5 | 1 §8400 T=1.5
4 Pig3s7 BENDING PART-L-T3 1 85400 1=

218+
/@

ASSEMBLY|  rosy s sent wiccs
U [ [ W o ~
[al [ ‘ o
el — e =
la] phoinll 7 T3
la] I - =
N
A /
Al

v wiooer GroumskanT «b ECe:




UNECE R80-SMART400 2PT

DWG. 1d - Seat back

1 1 1 1 ] 1 1 L] A1 1 1 i 1
400 5
' ) L
== ﬂ \
i
i IR Reri N
Bix A STEEL FAME
3 | ’\
DENSITY 46 +3kg/m P N
-~ o I
[ . l L
TR T
N PU-FOAM
L UL L)) eueom
| H N
| ; B
- -4/
R =i -
-
238
s
A ASSEMBLY.’F-OI‘C-WMMHM |
i = i
> FIS0016
|l it i )
1 LSSk 2= [z
A— /] 1] | s
vesmrdnoweanty | T 7 T T T - . =] = o] v | o fon ~I-' =32 L--;r-f— o
1 1 1 L i 1 i A 4 1 1 1 1 1
\4
400 4
- |
| STEEL FAME
il
3 I 21—
DENSITY 46+3kg/m Il
N [
N |
L%,j
\i PU-FOAM
— "-
3 |nm
'
- ASSEMBLY
[l = il -
N E— priatnll iy £
[ =3
la A !
s 7 i
T T T F 2

YPART GROUPPART F5 | T T T T Y T 7 T



UNECE R80-SMART400 2PT

1 1 2 L ' 1 5 1 . 1 ] 1 1

TEMNO | PART NUMBER DESCRIFTION QTY | Metenst | TcKNESS
5 PA 7850 SMARTBACKREST WIRESERT | 1 B -
2 Peodse Lothe Past 0025 2 | ssam |t
3 PIOSTE Steel shoel TDOXZEX1 S mm 7 | ses0 =i,
4 P35 Sieet shewt 1.5 mm 1 88400 RK
s P10 Ppe 0016 == Te1.
[ Ps11 Steel Shwet 1 16MM T | ssa0 Tei5
N 7 PI5008 MainRoun U Frame T | ssao T |
€ PIS9ST Cower Frame T |_serc Te15
s PPISAS PUNCHING PART-RH 1| 8640 Te2s
. 70 PPISS) T | ssa0
98 T Fr2280 7 | eewc
‘T"“LP Laat 12 W1 « | s
! { {41}
R T e 13 Woe73 1 £S400
T 1 Ta vaDe74 1| sswo
o ! 15 Vaosa7 2 | sswo

I
(161) I

| ¥y | 3 )
T '3] 3le =
1 g ¥
|
1 - /
I BN g |
{258) (F M, (255) s
] . 23l | 8 |
e %
| T |
1 —— | | |
’L'l)
{275}
o 341, O
365 .
T ASSEMBLY| reat mcwmsr
7Y S I 0 N i)
0 =] PA1-10155
I = = a—
| r——— L
. — ] [ e e [ s N adad
v sooed cacumssant o T T T T T T T T T T
- e
1 1 1 1 i 1 3 1 < 8 1 | 1
TEM NO.| PART NUMBER DESCRPTION QTY. | Material | THICKNESS
v PATIS) | SMARTBACKREST WIREWSERT | | < |,
2 PBOSSS Lathe Part 0025 2 S846 T=20
3 Fi3578 Stest shoet 100X25X1.8 men 2 58a0¢ =1
4 PI3582 Steul sheat 1.8 men 1 53400 Tn1
5 PI5610 Pps OD-18 1 58400 T=1
- [} P81 Sweel Sheatt1.5 MM 1 83400 Y=15
7 PISDES MainRoun U Fasme 1 58400 T=2
Fy FiET Lower Freme 1 [ sec | T8
2 PPISS PUNCHING PART-Ri 1 $5400 To2d
30 FP1680 PUNCHING PART. LW 1 83400 ki Y]
d 11 ezl AH HondieArm 2 2 SPHC. Te3 by
iz — SWooa1 W WEX1.5 4 [ sewc | ey
13 Wioa7y LH WeBtackat 1| 95400 [
" Wi0a74 R ViraBlacket 1| 88400 (1)
1§ WI0D4 7 WIRE D8 2 88400 1)

[==F™

L,\_ w.] xi“t; {

¥ MODRL GROUPSIART 401




UNECE R80-SMART400 2PT

DWG. 1e — Seat re-inforcements

DESCRIPTION
STEEL 50X50X3
WOOD T15
STEEL PLATE 75X150X5
BOLT M10X1.5X35
WASHER M10
L STEEL 40X40X4
BOLT M8X1.25X20
WASHER NUT M8 -
WASHER M8 SPHC T=14 |
THREAD M10 $8400 -

F
o

Wl N D DN -

-
(=]

(&) BoLT Mox1.5x3
_~ (o) wasHeR M8—

T=4
NI
- lws

—J

(3) STEEL PLATE 75x150x6—

170 ! DETAL L

; 1 SCALE1: ¢
- - e = (1) stee soxsoxa— !
/ /
i I L
i @ L STEEL 40X40X4 ol | ¥ !
= 1 | - | l >mmmgm—l { SMART 400 ECE RM
Y N«W\ \\M A _\W\\\ Z 2 ﬂ | g - :k<~,(_.. “OECEL i
1l e { PA10642
SN , Y T T ol w20]  PA10682 .
. N Bl i
— F——1— M_ | i | %5 .
s —— T/ |4 Borecwngnfe
| s I e I
T T T T T T ] T T T T

YIMOOEL GROUPSMART 40k ECE ’
P TVE DT NN



UNECE R80-SMART400 2PT

DWG. 1g — H-Point

DETAIL A
SCALE 1:4

oF08g |




)
,;’J\

DWG. 2 — Seatbelt Assemblies

UNECE R80-SMART400 2PT

4
Jre
\__ U
|
|
= F
B E3 N
N
] ;z ;aw ' .
i & 3
@ *
& e b




UNECE R80-SMART400 2PT

DWG. 2 - Seat marking and E-mark Sticker location




